Fri 11/22 - Mon 11/26
<u>The shape of an ideal arch</u> (see slides on Cannas)
What is an ideal arch?
Three conditions: (1) The only load on the arch is its weight
(2) The only external support is at its base
(3) Gravitational forces on the arch are balanced perfectly by its reaction to the compression that these forces generate.
Another answer, due to Robert Hoole (1671): "hanging duin, upside-down"

[1]

I magine a weightlen fishing line that has weights strong along it.







Thes 11/27

let's explore this further...
Polygonal approximations of functions. (Topic from the end of Calculus 2)
Motivating example: let's approximate
$$f(x) = e^{x}$$
 at $x = 0$.
• Oth order approximation: $T_0(x) = 1$
(y-intercept)
• Ist order approximation: $T_1(x) = 1 + x$
(We've done a lot of there...)

$$2^{nk} \text{ order approximation:}$$

$$T_{2}(x) = [+x + \frac{1}{2}x^{2}]$$
And so on...
$$n^{4k} \text{ order approximation:} T_{n}(x) = 0, \pm a_{1}x \pm a_{2}x^{2} \pm ... \pm a_{n}x^{n}.$$

$$Taking the limit as n \pm os yields an influit series:
$$Q^{Y} = a_{0} \pm a_{1}X \pm a_{2}X^{2} \pm a_{3}X^{3} \pm a_{4}X^{3} \pm ...$$

$$M \text{ How to find } a_{n}?$$

$$Note then t = T_{n}(0) = a_{0} = e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = 2a_{1} = e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = 2a_{2} = e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = 2a_{2} = e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = 2a_{2} = e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = 2a_{2} = e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = (0) = k + e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = (0) = k^{2} + e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = (0) = k^{2} + e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = (0) = k^{2} + e^{\circ} = 1 \qquad \text{since } \frac{d}{dx}e^{x} = e^{x}$$

$$T_{n}^{(0)} = (1 + x + \frac{1}{2!})x^{2} + \frac{1}{3!})x^{2} + \frac{1}{3!}x^{2} + \frac{1}{6!}x^{2} + \frac{1}{4!})x^{2} + \frac{1}{6!}x^{4} + \frac{$$$$

$$\frac{\beta_{emarks}}{k_{emarks}} = e^{x} = \cosh x + \sinh x$$

$$\frac{d}{dx} (\sinh x) = \cosh x , \quad \frac{d}{dx} (\cosh x) = \sinh x$$

$$\frac{d}{dx} (\sinh x) = \cosh x , \quad \frac{d}{dx} (\cosh x) = \sinh x$$

$$\frac{d}{dx} (\sinh x) = \cosh x , \quad \frac{d}{dx} (\cosh x) = \sinh x$$

$$\frac{d}{dx} (\sinh x) = \cosh x , \quad \frac{d}{dx} (\cosh x) = \sinh x$$

$$\frac{d}{dx} (\sinh x) = \cosh x , \quad \frac{d}{dx} (\cosh x) = \sinh x$$

$$\frac{d}{dx} (\sinh x) = \cosh x , \quad \frac{d}{dx} (\cosh x) = \sinh x$$

$$\frac{d}{dx} (\cosh x) = \sinh x$$

MON 12/2



Consider an ideal arch.
It
$$C(x) = Compression$$
 force it x
 $\Theta(x) = angle at x$
 $y(x) = graph of the function$
of the arch.

$$\begin{bmatrix} C(x+\delta x) & C(x+\delta x) & Sin \Theta(x+\delta x) \\ & \Theta(x+\delta x) & C(x+\delta x) & Sin \Theta(x+\delta x) \\ & Mg = W \cdot \Delta S \\ & C(x) & Sin \Theta(W) \\ & C(x) & C(x) & Sin \Theta(W) \\ & C(x) & C(x) & Sin \Theta(W) \\ & C(x) & Cos \Theta(x) \\ & M & C(x) & Cos \Theta(x+\delta x) - C(x) & Cos \Theta(x) \approx O \\ & M & C(x+\delta x) \cdot Cos \Theta(x+\delta x) - C(x) & Cos \Theta(x) \approx O \\ & M & C(x+\delta x) \cdot Cos \Theta(x+\delta x) - C(x) & Cos \Theta(x) \approx O \\ & M & C(x+\delta x) \cdot Cos \Theta(x+\delta x) - C(x) & Cos \Theta(x) \approx O \\ & M & M & C(x) & Cos \Theta(x) & dx = \int_{-L}^{N} O & dx \\ & M & M & M & Sin M & Sin M & Sin M \\ & M & C(x) & Cos \Theta(x) & dx = \int_{-L}^{N} O & dx \\ & M & M & M & Sin M & Sin M & Sin M & Sin M \\ & M & C(x) & Cos \Theta(x) & dx = \int_{-L}^{N} O & dx \\ & M & M & M & Sin M & Sin M & Sin M & Sin M \\ & M & M & M & Sin M & Sin M & Sin M & Sin M \\ & M & M & M & Sin M & Sin M & Sin M & Sin M \\ & M & M & Sin M & Sin M & Sin M & Sin M \\ & M & M & Sin M & Sin M & Sin M & Sin M \\ & M & M & Sin M & Sin M & Sin M \\ & M & M & Sin M & Sin M & Sin M \\ & M & Sin M & Sin M & Sin M & Sin M \\ & M & Sin M & Sin M & Sin M & Sin M \\ & M & Sin M & Sin M & Sin M \\ & M & Sin M & Sin M & Sin M \\ & M & Sin M & Sin M \\ & M & Sin M & Sin M \\ & M & Sin M & Sin M \\ & M & Sin M & Sin M \\ & Sin M & Sin M \\ & M & Sin M \\ & Sin &$$

$$\int_{1}^{1} \frac{C(x+\alpha x) \sin \theta(x+\alpha x) - C(x) \sin \theta(x)}{\alpha x} \approx -W \sqrt{1 + (\frac{1}{\alpha x})^2} \quad \text{the limit of} \\ \int_{0}^{x} \frac{1}{\alpha x} C(x) \sin \theta(x) \, dx = -W \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$

$$(AA) \quad C(x) \sin \theta(x) = -W \int_{-1}^{x} \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$

$$(AA) \quad C(x) \sin \theta(x) = -W \int_{-1}^{x} \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$

$$(AA) \quad C(x) \sin \theta(x) = -W \int_{-1}^{x} \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$

$$(AA) \quad C(x) \sin \theta(x) = -W \int_{-1}^{x} \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$

$$(AA) \quad C(x) \sin \theta(x) = -W \int_{-1}^{x} \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$

$$(AA) \quad C(x) \sin \theta(x) = -W \int_{-1}^{x} \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$
Now, which do use do with (A) and (AA)?
$$Consider \quad \tan \theta(x): \text{ there are two imags to compute it.}$$

$$(D) \quad AX \quad C(x) = \frac{dy}{dx} \quad C(x) \cos \theta(x) = -\frac{W}{C_0} \int_{-1}^{x} \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$

$$Thus, \text{ the function } y(x) \text{ that describes the arch satisfies}$$

$$\frac{dy}{dx} = -\frac{W}{C_0} \int_{-1}^{x} \sqrt{1 + (\frac{1}{\alpha x})^2} \, dx$$

$$This is an axample g a differential equation: an equation that defines y(x) implicitly, but not explicitly.$$

Claim:
$$y(x) = -\frac{G}{W} \cosh\left(\frac{W}{G}x\right) + D \quad \text{works.}$$
Recall: $\cosh kx = \frac{e^{kx} + e^{-kx}}{2}$, $\sinh kx = \frac{e^{kx} - e^{-kx}}{2}$

$$\left(\cosh kx\right)^{2} = \frac{1}{4}\left(e^{2kx} + 2 + e^{2kx}\right), \quad \left(\sinh kx\right)^{2} = \frac{1}{4}\left(e^{2kx} - 2 + e^{-2kx}\right)$$

$$(\cosh kx)^{2} - (\sinh kx)^{2} = 1$$
Also $\frac{1}{dx} \cosh kx = \sinh kx$ and $\frac{1}{dx} \sinh kx = \cosh kx$
So $\frac{1}{dx} - \sinh \left(\frac{w}{c_{0}}x\right)$
 $\frac{1}{dx^{2}} = -\frac{w}{c_{0}} \cosh\left(\frac{w}{c_{0}}x\right) - \cosh\left(\frac{w}{c_{0}}x\right)$
 $\frac{1}{dx^{2}} = -\frac{w}{c_{0}} \cosh\left(\frac{w}{c_{0}}x\right) - \cosh\left(\frac{w}{c_{0}}x\right) - \cosh\left(\frac{w}{c_{0}}x\right)^{2} = -\frac{w}{c_{0}} \sqrt{\left(\cos \frac{w}{c_{0}}x\right)^{2}} = -\frac{w}{c_{0}} \sqrt{\left(\cos \frac{w}{c_{0}}x\right)^{2}} = -\frac{w}{c_{0}} \sqrt{\left(\cos \frac{w}{c_{0}}x\right)^{2}} = -\frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right)^{2} - \frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right)^{2} = -\frac{w}{c_{0}} \sqrt{\left(\cos \frac{w}{c_{0}}x\right)^{2}} = -\frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right)^{2} - \frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right) - \frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right)^{2} - \frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right) - \frac{w}{c_{0}} \sin \left(\frac{w}{c_{0}}x\right) - \frac{w}{c_{0}} \sin \left(\frac{w}{c_{0}}x\right) - \frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right) - \frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right) - \frac{w}{c_{0}} \cos \left(\frac{w}{c_{0}}x\right) - \frac{w}{c_{0}} \sin \left(\frac{w}{c_{0}}x\right$